
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

4, 908 × ________ = 49.08 8, 331 × ________ = 833.1

7, 442 × ________ = 7442 1, 664 × ________ = 1664

6, 707 × ________ = 67.07 10, 199 × ________ = 101.99

7, 413 × ________ = 741.3 9, 796 × ________ = 97.96

9, 115 × ________ = 91.15 7, 436 × ________ = 743.6

5, 497 × ________ = 54.97 1, 627 × ________ = 162.7

1, 68 × ________ = 1680 2, 302 × ________ = 2302

1, 766 × ________ = 1766 1, 142 × ________ = 114.2

1, 746 × ________ = 174.6 4, 488 × ________ = 44.88

6, 669 × ________ = 6669 4, 583 × ________ = 458.3
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